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Exercise 8.1

2 2
1. Find the area of the region bounded by the ellipse f—ﬁﬂ’?:l

.

Xy
The given equation of the ellipse, 6 + "} =1, can be represented as

It can be observed that the ellipse is symmetrical about x-axis and y-axis.

~ Area bounded by ellipse = 4 x Area of OAB

Arca of OAB = j ydx

Uy = .
=—| =Nl6—x" +—sin
| & - )

==[2/16-16 +8sin"' (1)~ 0-8sin"' (0) |

L
J

= 3l4a]
=3n
Therefore, area bounded by the ellipse = 4 x 3n = 12n units
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2. Find the area of the region bounded by the ellipse T+?:l .

Thég‘fven equation of the ellipse can be represented as

_+;_:|

4 9

:>_\'=3JI—% a1}

It can be observed that the ellipse is symmetrical about x-axis and y-axis.

~ Area bounded by ellipse = 4 x Area OAB

" Area of OAB = '[: ydx

- J:Sl‘jl —%dx [Using (1)]

- % I: \,I'F( h‘

3 x —— 4. _x
= v4—-x" +—sIin

7 9 4 7
212 2 2 |
3| 2n

T Al oA

in

9

3n :
Therefore, area bounded by the ellipse = 4"‘7 = 6 units
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3. Arealying in the first quadrant and bounded by the circle x* +3* =4 and the lines

x=0and x=21s

A E C E D .E

@A) ® 5 © 3 ®
Answer

The area bounded by the circle and the lines, x = 0 and x = 2, in the first quadrant is

represented as

Yy
£ =1 pr=2
- 0 .
X A X
'
)

*. Area OAB = [ ydx

i | ——

= jl_ V4 = x?dx

b | =

X f >4
. 42 3 2
A Y X . In

-."||

T units

Thus, the correct answer is A.

4. Area of the region bounded by the curve y* = 4x, y-axis and the line y =3 1s

9 9 9
@) 2 ® 3 © 3 ® 3
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Answer

The area bounded by the curve, y* = 4x, y-axis, and y = 3 is represented as

0 .
= — units

Thus, the correct answer is B.


www.toppersguru.com

	Button1: 


